HEROCONT

PREFABRICATED MODULAR BUILDING SOLUTIONS

2.40 X 6.00 = 14.40 m?

MODULE SYSTEM CONTAINER PLANS
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HEROCONT

PREFABRICATED MODULAR BUILDING SOLUTIONS

3.00 X 7.00=21.00 m?

MODULE SYSTEM CONTAINER PLANS

7000
7000 7000 } 3500 | 3500
o o o
o o o
o o o
m m m
3C
w \ w I w w w w
A R
1000/ 1170 = —| 1000/1170 3
HC-1 HC-2 HC-3
7000 7000 7000
3500 3500 } 2960 1080 2960 { 1145 5855 \
i
i
o o | o
S S I S
o o 1 o
ol g1 L ) i < ™
// \ i \\\
\ “ w w \L Y- w “ w N | w w
S~ 1000/ 1170 _ 1000/ 1170 S 1000/1170
HC-4 HC-5 HC-6
7000 7000 7000
2960 ‘ 1080 2960 1 1145 | 5855 } ‘l 2960 ‘ 1080 2960
o / o o
o o o
m (2] (23]
/ =\ it
“/ \ th “ | e
w \ ” w \e w w W w
1000/ 1170 \\1, ~_| 1000/ 1170 1000/ 1170
HC-7 HC-8 HC-9
7000 2000 7000
1865 5135 | } 26007 _Jone YRt ‘( 5855 | 1145 }
] - =1 =l
N 0]
= ) |t
S B S s
= — =8 S e 1 S
) / N ) R
AN \ i
w w w . w w w A
1000/1170 100071170 1000/1170 \\,
HC-10 HC-14 HC-11
7000 7000 s
2600 1080 2600 | \ 5855 1145 | [ 2600 1080 2600 ‘
| | | R | | |
o o
o o
o o
_— LY ™M
’ \\\
C‘Zﬁ n=‘l _— L —_— _
w \ w \ w w W
1000/1170 \\ ) J 1000/ 1170 1000/1170 \
HC-12 HC-13 HC-15
3000 4000 | o0 5000
P1000/1170 ( ‘1039 974 [ 974 974 1039{
|
5] 3 °
R =3 3 i \ [ 3
™M \ o
- N 15}
N w w =TT
— 1000/ 1170 i . \
1000/ 1170 o A
HC A-5 HC A-6 HC WC SH-3




	PLANLAR

